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wa?+b?-8a+b)=-21---©
©2] Al = tiYstd
“a?+b*=8a+b)-21=8%x3-21=3

7

7

7

<> oI —




o] 5w, R dxy 1, 4xo +

)=4-10+1=41




o S| AR P 10 9] o] 44& vehd Zoltt. o] A=
o] #4h2?
(8)
5
4
3
2
1

0750 60 70 80 90 100()

O 72 @ 74 @76 @ 78 ® 80

B

- 55x1+65x2+75x54+85x2 730

(Bt) 5 o = (A
1

A= G (55-173)2x 1+ (65— 73)%x 2}

1

+E{(75—73)2><5+(85—73)2><2}

760

=70 -0




24. oS IHNA x4y 9] ghe?

B

A v o A met et Aol what
2 =52+ (2V5)?
0o|lBZ x=3+5
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/
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B ~
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WA 1Y w259 dolE x2t FH
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AAHP @ AAOB ©|E& (- (HAPE Z8)
AP :AB=HP:BO
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AE = AD X cos60° = %x

1
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